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ENFZ EF BT 38 42 41 83
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FEAHT 41 50 48 98
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7k JR BT 269 331 306 637
R ARHAT 371 488 501 989
R BT 156 164 167 331
EEHT 179 211 230 441
AN T 68 82 76 158
AR ARET 1118 1321 1368 2689




TH2F6 A1 BRAEDCERERSIREFHRRUVAD

BT 4 L BN Z(N) N

S i5H] 110 148 169 317
FAE BT 392 392 438 830
FEZEMT 118 128 121 249
EER 177 226 225 451
FE A HT 598 611 626 1237
= EET 286 284 306 590
L {RHT 26 22 30 52
= BRET 49 60 65 125
NLEEHT 108 138 141 279
IN=T:) 9 8 11 19
/N R ET 28 28 38 66
FEHNET 992 1091 1079 2170
/NERHET 291 385 407 792
2N 611 623 677 1300
B ET 1110 1244 1308 2552
H F E BT 1342 1344 1297 2641
=) 866 1062 1065 2127
e T 675 819 844 1663
= E/ERT 1247 1435 1471 2906
“EEtEHA 69 78 88 166
—EErREHE 86 126 124 250
FAHE =T 370 526 517 1043
HHPFEH 699 876 876 1752
fimHI AT 101 133 121 254
2% 601 713 790 1503
BN EHT 159 213 221 434
= HAT 34 43 58 101
i TN} 2305 2422 2587 5009
B2 FERT 222 253 264 517
fh 2 BT 152 83 160 243
A ET 179 191 203 394
FZARHET 127 153 158 311
FEHET 108 130 145 275
B ENHET 87 117 106 223
BT HT 45 53 53 106
1= F AT 206 202 218 420
rgiafr 166 206 203 409
£ Bk BT 49 62 56 118
{0 A< T 1623 1817 2041 3858
RiEMT 28 29 29 58
f2{EHr 356 339 412 751
LLJ 5 ET 142 167 194 361
BEET 29745 31513 32829 64342

e (1 A
——

TR BETONME X IEFZEFIA




